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" review your options carcfully before you make a
decision

t;‘-} make hay while the sun shines
(B) sit on the fence
(C) look before you leap

(D) kill the golden goose

3. Fill in the blanks with the correct set of
words.
She was not interested __ taking _
French, butdecided___opt_ Germaninstead.
(A) in; up; to; for
(B) to; on; in; with
(C) on; to; for; on
(D) for; to; in; to
~ 4. Choose the word that best replaces the
italicized words in the given sentence — In earlier ¢
times, rebels were executed for killing the king.
(A) homicide  (B) regicide
(C) parricide (D) fratricide
5. Select the word that best replaces
italicized words in the sentences givc&

B Senience (1) — The managementdi him
v suitable for the j
- Sentence (i) — He wasno ableto arrange all his

bclongings%suitﬂse.
e (A) good

(B) apt

L (©) ft

. ® enm

lthntlf}‘thc incorrect pair

AJ Kidney diseases — — urologist
M‘ﬂﬂeddméascs—hmulogm
(G Diseases of the stomach —

the,

m terolo
(D) mtrpugifnmn mlmloglst
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8. chume the word wllic fttuj' _-

fA) Scold e

(B) Chastise .

(C) Praise b

(D) Arraign
9. Whichof thefollowingisana iliary i

(A) Look |

(B) Can

(C) Take

(D) Do, ’
10. Whoisa pscphulugusr. 7

(A) Someone who specializesinsta listical
studies of voting patterns in elections

(B) Someone who specializes in a cert ain
branch of neuropsychology. |

(C) Sumcanu spccmltzcs in a certain
bmnch of gstrnphysncs

(D) Sum:om: Wwho practises Fr:ud:
ps;chmna]ys:s

11. Comcuy change the following sentence to.
the ar:thr: voice, using the appropriate punctuation
M;r daughlcr expressed her preference for
Iﬁsmry over English. i
(A) My daughter says ‘I prefer History
over English.’
(B) My daughter said, *I prefer History
over English.”
(C) My daughter tells —
over English.’ 3
(D) My daughter told, “I prefer History
over English.” i’

12. Fillintheblanks with the ate .
2 appropri Sroup Sy

% F L
.

‘I prefer History

Hc has meticulous in the ‘T.
project, rise to irregularities o

(A) not being; overseen; given; much {.

(B) not; oversaw; give;more

(C) not been; overseeing; pvmg;mmf e o
(D) not be; oversee; gave; m: ' s k
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(B) M. A. Jinnah
(C) Sir Syed Ahmad Khan

(D) Lord Curzon

27. Who was the Tenth and Last Guru of the
Sikhs?
(A) Guru Ram Das
(B) Guru Hargobind
(C) Guru Govind
(D) Guru Tegh Bahadur

28. The Vaikkom Satyagraha was launched in
1924 for

(A) opening the temples to the low castes
Hindus.

" (B) fighting against the exploitation by
the landlords.
(C) removal of Press restrictions.

(D) democratizationof the administration
of Travancore state.

29. A, B, C, D are four frie than
Dbut younger than B, A:sol& der most.
Arrange A, B, C, Dinascen of their age

(A) D,C,A.B
(B) C,D,A,B
(C) D,C,B, A
(D) B,C,A,D

30 ::wmchufnurnnawmgpainmmmcsof
mdlh:lmendnmne glands of
mwﬂ

. 26. Who observed: “The Congress is in reality

2. ﬁmmmmmmmﬂt?'
(A) OE ATWNAA
(B) oF TUIR=
(C) o= c1RR=
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(B cofRaivr crrer Rere ek 3
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(C) Fame=itez Toa fRrauran 2R o=

(D) TMETHA IR LM ETIACE
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29. A, B, C, D 5% 3% | D-97 (0% C 3w, forg
B~ (%% D11 A 31, Ry 2 e et wm
T W A, B, C, D= S 20z Ae |
(A) D,C, A, B
(B) C,D,A, B
(C) D,C,B, A
(D) B,C,A,D
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Which of the I'ulluwlnl woul
mﬁm effect on the economy?
1. RBI releasing new bonds in the market
2. RBldecreasing the SLR
3. RBI increasing the Bank Rate
4, Abolition of CRR

(A) 1,2and 3

(B) 1and 4 only

(C) 2 and 4 only

(D) 3 and 4 only

36. The term 'Political Justice® is mentioned in
the Indian Constitution under which of these.

(A) Only under the Preamble to the
Constitution of India

(B) Under both Preamble and Directive
Principles

(C) Under Fundamental Rights and
Directive Principles

(D) Under Preamble of the Constitution
and Fundamental Rights

37. Two drops of liquid merge to form a single
drop. In this process energy is

(A) absorbed. "\
(B) released. "’a

(C) may be absorbed or !lns

depending upon the s uf s

the liquid.

(D) neither abso %
38. InIndiathe state with ield of Pulse
(Dal) per hectare

(A) Madhya Pradesh
(B) Rajasthan

(C) Gujarat

(D) Uttar Pradesh

39. ‘Pﬂm Islhe aim of the ‘Jan Vishwas Bill

- o P,

B-6

35, el ST ﬂﬂﬁm \r,-\,-..
At
1. reca RBI 7 T8 2501 %
2. RBI SLR 3=10%
3. RBI A= 7 AGI0%
4. CRR %48 341 X%
(A) 1,263
(B) 9y 164
(C) 4264
(D) vy3e4d

36. mﬂﬁmmwm L S
graeniGa St S
(A) mﬂmﬁm Gacid

(B) mmﬂﬁ:cﬁqﬂ'ﬁﬁ’rﬁ Touw

(C) ﬁrﬁwmﬁﬁm%_

L

(D) '-“i'_i'

7. v ot v e T = e ofae
%, W% = =fea

(A) Corme 22|

(B) 3f& ==

(C) watars wnsifse ez esz fréay =z
cer 3 g 20w oy |

(D) Cre et & bR = =)

38. &1 Bes{RT SIS 287 2 S eomrs ks
(A) e
(B) wrerg=
(C) wemrs
(D) Twagm=

e s

39. Arefeesm ereen s w R
fam'-g7 = Srwg $ie

(A) srewamm facafe
(B) marﬁmaﬁﬂ
© mm




40. Where is the Headquarter of the Asian
Pacific Postal Union?

(A) Manila

(B) Bangkok
(C) Colombo
(D) Mumbai

41. Which is the reducing agent in the thermit
reaction carried out for repairing of the railway
track?

(A) Iron oxide
(B) Aluminium metal
(C) Aluminium oxide
(D) Iron metal

42. The Rourkela, Iron and Steel Plantis located
in—
(A) Coal mining area
(B) Iron ore mining area
(C) Region between coal and iron ore
mining area

(D) Damodar Valley

43, Astood 10th in the class, whileB ranked 38
from the bottom. B’s result i§ beuer than A and
there are 2 students betweenA and B. Total number
of students are
(A) 40
(B) 41
(C) 42
(D) 44

44. Forests having no free entry by people in
India—

(A) National Park

(B) Wildlife Sanctuary
(C) Reserved Forest
(D) Protected Forest

e wafgsry
(A) =rfem
(B) =ita=s
(C) =nq1
(D) Nf

41, crmiRGE e crarafen o ol sefecs
@ fawras s gage o, o
(A) ST WS
(B) #rea HEfRf=
(C) =R sk
(D) mm;ﬂ%

L+'_J{"

42. mmqm A WA
(A), TR wers
(B) cTrz wew=
(C) T @ o faa RTT WA
(D) WTRMa EHTIT

43. Class-4 A rank CYTU0E 10 &3 B CPIGHTR 38,
(o[ (9% | B~0% G0 AT (UTS ST I EIHT
gamwmmlﬂﬁ'ﬂ?mmwﬁﬂ
L[4 %

(A) 40
(B) 41
(C) 42
(D) 44
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process was used for energy production in Indiain

§1. Ocean Thermal Energy Conversion—

(A) Kolkata

(B) Haldia

(C) Madras/Chennai
(D) Paradwip

§2. Whichofthe followingis not a fundamental
duty under the Indian Constitution?

(A) To protect monument of national
importance

(B) To develop scientific temper

(C) To uphold unity and integnty of the
nation

(D) None of the above

53. Identify the substance which can dissolve
in water:
(A) Glucose
(B) Urea
(C) Acetone
(D) All of the above

£4. The youngesl President of the Indian
National Congress, whoheld that office at the age

of 35, was
(A) RashBihari Ghosh
(B) Subhas Chindra Bose
(C) Abul Kalam Azad

(D) Lala Lajpat Rai

55. Which Union Ministry is associated with
the pilot phase of The Open Network for Digital

Commerce?
(A) Ministry of Commerce and Industry

(B) Ministry of Home Affairs
(C) Ministry of Electronics and IT

(C) e/ gomiZre
(D) +fradiew

52. e S e s e wvee

cinfere = amt

(A) ol wrd ower i T ¥

(B) Tawifig st ZFTR A 6

(C) ©rTsa 9 & s HReH @ Aeaw
=

(D) _iﬁqa\v@smm T

-

53, wtm ZhEs @, = (e e s—
"(A) 4TS
(B) LRm
(C) =fHb™
(D) Tviza HanHl

54, S 35 TR T (U WIS IO IR
srawife wrafiem, fefn wan
(A) FPRE® cam
(B) Yo 5% (A

(C) W ST S
(D) ¥ FIE=S AR

55, o ol TApTe! AT S W TR
e wa fofm wef ey wfvet
{Mﬁﬁ_ﬁmwﬁ‘ﬂlﬁw
(B) fiffy = s e

(D) None of the above

(©)



%6, Afier the partition of Dengal, the two pew
s which came into culstence were

(A) East Bengal and Dengal
(B) East Bengal and West Dengal
(C) East Bengal and Assam
(D) East Bengal and North Bengal

£7. In an examination, 5% of the candidates

failed in English, 65% failed in Mathematics,
whereas 24% failed in both. Find the percentage of
candidates passed in the both subjects.

(A) 4%

(B) 4-5%

(C) 5%

(D) 535%

8. The leader of the Ghadar Party in Bengal
and Orissa was
(A) Jatindranath Mukherjee
{B) Jatindranath Das
(C) Barindra Ghosh ’
(D) M. N. Roy I.r_:-":-::_._:

budget 2023-24 goes 1o~
(A) Interest mmu
(B) States' shai‘enl es and duties
(C) Centrally sponsored schemes
(D) Subsidies

f’"‘-"n,. \ _.
59. The major a.hmm»._-xm%lurlf: l:l Union

110

g6, wsowa 1 cufl sy soney
o e N
(A) off ot wat qpe
(B) +{ e . ofus e
(C) od T g E™
(D) w4 et cae Tow wnee

57, caf when Vredice 5%, ww 659
wfBre® 24% w Fow & oo v 14f5 finea ois
Wt -

(A) 4%
(B) 4:5%
(C) 5%
(D) 55%

88, e can offemy g wowa Gret iR
(A) wheae gefe '
(B) vy w
(C) w¥er curw
(D) &1, &9, ¥

£9. 2023.24 wiowa cedity wcedhe widene oy
(M YiCEume

(A) v vy

(B) codiy arecy grenufng win

(C) codity wheveapery v sfaewat
(D) wife

60, wTrean(s (e were e 009-2022" el
wifte e L
(A) WM
(B) onft
(€) yuft
(D) e

A

60. Which among the following Indian city has
hosted the 'Khadi Fest-2022" Exhibition?
(A) Ahmedabad
(B) Chennai
S Mmghli

pl _:.Lﬂ!.if.r
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‘equal to that of the single one?
2 (A) Radius

(B) Surface area

(C) Surface energy
(D) Volume

“72. Whichneighboring state of India has marked

Wil ?

(A) Bhutan (A)I%9

(B) Nepal (B) Giet

(C) Srilanka (C)

(D) Bangladesh (D) %

Which country has builtan * Artificial Moon® 73. (ﬂil X ificial Moon® (Ffia bM)~a%
T ' t? T 11;:5

(A) USA [A} T gHaR

(B) China J (B) =

(C) Russia (C) i

(D) Israel (D) Ve

74. A man encashes a cheque 6f T,60V- from

rupee notes is

1"&?%' .'
(A) 20 H{
(B) 12

(C) 36
(D) 24

~ 75. Which Mughal emperor was known as

(A) Akbar
(B) Jahangir

(C) Aurangzeb
(D) Bahadur Shah II

L 7L, A drop of water is broken into two drops. 71. a5l worra mn curs 4 e faere w1
The sum of which property of the two drops is qﬁ;mmmmmmmr :

ts 75th independence anniversary on 4 February, EHE 75T TiHErE) e oS T

‘a Bank. The Bank pays him in200 fupée notes and Bank 200 51 & 100 brat-a =15 fftm c=is 48 51
100 rupee notes, totalling 48, The number of 200 @B oY 1 200 BRI G e T

(A) =P

(B) *f¥emma oo
(C) =% =fe
(D) '=mweEq

72, SICeA (i wferadl 2 4 craEia, 2023

74. T 6000/- @=f% 5%, Bank-9 ©IEE (oA,

(A) 20
(B) 12
(C) 36
(D) 24

75, FF IR G 2w wWERiR wiE #fRhe

Alamgir 1?7 fireet

(A) TR
(B) S
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;,Wlinh city is the .Hudqu:ner of
: ]MSI'EC ? by

~ (A) NewDelhi s

(B) Colombo .

(C) Dhaka

(D) Jakarta

77. Which Mughal emperor granted *Farman’
in 1717 1o the British East India Company?

(A) Bahadur Shah 11 R v
(B) Shah Alam Il

(C) Farrukhshiyar

(D) Muhammad Shah

R e R Ry S B 8 & o

78. In India Aman rice is cultivated during
(A) sown in S. W. Monsoon season and
harvested in winter.
(B) sown in S. W. Monsoon season and
harvested at the end of the monsoon.

(C) sown in summer and harvested in the _

monsSoon.
(D) sown in early summer and harvested
at the end of the monsoon. :

e
=

79. Combine three resistors 52, SQand30

in such a way that the total Ce of this

combination is maximum wi

(A) 1250 E
(B) 1350

(C) 14.50Q

't‘!u.": d i' (D) 16.59Q

; I"- H-Supposex:y-x-i-y,:f.r-:y

= x-y, ifx>y

e ' '-L. .-. | N 1: I[x-}'
?g# ){r’ 2}+[5t1jt2

(A) )

'-p

4 k-
+

STEC'~9% = S

(B) WA e *L
(®) s?w'camﬁmwﬁm o

(D S o2od fe
01 |

79. fead @ 5Q, 4.5QERIN GO
27 T (1 TIHE A T TR
(A) 1250
(B) 13.5Q
(C) 14.5Q
(D) 16.5Q

80. x+y= I+y,‘lﬁ.r-:y..\-
= x-y,Mx>y
= 2, MWx=y =

9 fRef =

S*(T*+2)+ (5 'Q .2
(A) 20
(B) 21
©) 22




81. The major percentage of Central
Government subsidy in 2023-24 is on

(A) Food

(B) Interest
(C) Fertilizer
(D) Petroleum

82. The word Congress was borrowed from
(A) TheCongress (Parliament) of the USA.
(B) North American History, to connote
an assembly of people.

(C) The Congress of Trade Unions.

(D) The Congress of World Religions at
Chicago.

83. Choose the correct diagram to represent
books, bengali books and novels.

(A)

o)
6
(D) {; -

84. Find the value of

81. 2023-24 3N (F (F AT TEFR FADA
AT WA TR FAE T
(A) =
(B) =t 7
(C) =
(D) cridifemam

82. T == gz @A e
(A) RS Teaga F0IA (47|
(B) Bwr wfaan e (40s, TR
SIS (ZRCS |
(C) G BeFamz S0 (U |
(D) s el o (40 |

|

- 3
7 ]

#
B =

83, Ws Ba o=, @O &, JIEM R/ R
THTPE o Sy

(A)
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8. ' of the following is not regarded as

Jlic expenditure in India?

(A) Subsidy given tolocal city bus service

(B) Defense expenditure

(C) Interest payment 0N national debt

(D) Investment spending by public
companics

o
e e
i

e 3

32 e

86. Who gave the title of Rani to the Naga
women leader Gaidinliu?
(A) Subhas Bose
(B) Jawaharlal Nehru
" (C) Thakkar Bapa
(D) Mahatma Gandhi

§7. What happens when the potassium iodide
solution is added to a solution of lead nitrate?
(A) White precipitation of lead 1odide is

formed.
(B) Yellow precipitation of lead iodide is
formed.
(C) Red precipitation of lead iodide is
formed. _f
(D) Black precipitation of lead iodide,is
formed. N
88. Which country has awarded- Ardeshir

B.K. Dubash, the ‘Orderof Mefitinthe Diplomatic
Services'? h ¢

(A) Canada

(B) France

(C) Japan

(D) Mysuru

B-16

&7, CS AR5 BT Fare] S{iT S
wrae| (U191 FANS LT ;
A) GTS SITEEIE2 AM | 57 9,

(BY (575 SATSRIEH 27 HETHASS

(€) e STATCIAISA w1 ST o

(D) (A& WIATEEIEE T ST ol

ki

88. (@A e WA . (% A e
=2 % w oo AEem SR
AT ? ‘3

(A) S '
(B) =M
(C) Eiol
(D) (@




Harshavandana, il -

(A) Pulakeshin |

(B) Pulakeshin 11
- (©) Mangalesh

(D) Kirtivarmana

91. Ilfll Gangadhar Tilak introduced the
Ganapati Festivalin 1893, He held the first Shivaji
festival in

(A) 1584
(B) 1885
(C) 1896
(D) 1897

92. The Diamond Quadrilateral of India will
connect

(A) India’s four main megacities by
superfast railway services.

(B) India’s four main port cities by
superfast railway services.

{C) India’s four main airports by superfast
cargo airplanes.

(D) India’s four main industrial cities by
superfast roadways.

93. Name the first newspapegin lndia:
(A) Parthenon / =S :&'

(B) Digdarshan &

(C) Bengal Gazetie / Hicky’s Gazetie /
Hicky's Bengal Gazette

(D) Samachar Darpan

94. There are 75 questions in a question paper,
cach carrying 2 marks. 1 mark is deducted for each
question answered incorrectly, A studentanswering
all the questions got 45 marks. What is the number
of questions correctly answered by the student?

(A) 42
®) 41

BWP23

M. A Brep wre 2XadrE wafers BrEAe
(A) = sfza]
(B) ¥ sprad
(C) Hpn=
(D) #ffxly

91. 1893 1= are arwiea fowrs s o o
arafinm | fef aey frarfe Som oF sEfom—
(A) 1884
(B) 18RS
(C) 1896
(D) 1897

92, %Wm_éﬁgﬁa & 303

()it 88, sTeRTe EeA oM

o ofagrmr

B) 'y 8 awE wmTE ARl @™
 wffarmam

(C) 2uF 8 faawars weondl SPEg)

fan |
(D) = 8 e =1zars weMal Aewd |

93, TIETEN oYY AAMALEA A4
(A) ==
(B) fspR
(C) & onst | RfR'w coed [ BR'e
o (orEh
(D) F=I51R wefel

94, ozl zmiom@ 750 = we a3 =R =
w7 2| el §9 Teraa o | wa Rond = 3w
W2 oraa Taa i me «Frme@ 45 e o, JRe
TEEd He T -

(A) 42
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ul'the followi
Indian imports?

es nmspmnn
(B) Gold and Silver

[C] Electronic
(D) Petroleum, oil and lubricants

A 96. In India the Food Processing Industry is
 most developed in

(A) West Bengal

(B) Gujarat

(C) Andhra Pradesh

(D) Haryana

97. Socio-economic planning is a part of
(A) Union list
(B) State list
(C) Concurrent list
(D) Reserved list

e
Y

~ 98. Which amendment of Indian Comn{;ﬁq&. y

is related to the Anti-defection law?
(A) S51st amendment
(B) 52nd amendment
(C) 53rd amendment
(D) 54th amendment

.

.....

(A) Zefarm wifEr
(B) I

(€) 3 T

(D) #afFs T

98, sEeH AR @FFH A :
ﬁmﬁmmw? .'
(A) 519% A=
(B) 523 A=
(C) S3TT HArstias
(D) 5493 A=

- "P.=n(n-1) (n- 2} 1111

lSrsn GGn, r ml _‘z_:D‘
n-9 WE T
(A) 10
(B) 12
- O
- D16



100, Who wrote the book *Amuktamalyada?
(A) Madhabacharya
(B) Ramanu)
(C) Krishnadevaray
(D) Maladhar Basu

101, Cause of myopia is
(A) contraction of eyeball.
(B) expansion of eyehall,
(C) dryness of optic nerve.
(D) All are true

102. Where was the first Buddhist Council held?
(A) Vaisali
(B) Pataliputra
(C) Rajagriha
(D) Malava

- 103. Which sportsperson has been named as the
SBBC Sports Personality World Sportstariof the
WYear' for 20227

(A) Rojer Federer

(B) Neeraj Choptu

(C) Ligfiel Messi

(D) Serénd Williams

104. Which one of the following is not a feature

of Indian federation?

(A) There is an independent judiciary in
India.

(B) Powers have been clearly divided
between centre and states.

(C) The federating units have been given
unequal representation in the Rajya
Sabha.

B-19

(D) Itistheresultofan ngru-m:iltmnl
the federating units, vz

100, wmEwwgn’ v w5 WERY

(A) eS| it s i
(B) wraew
(C) Pworaem
(D) wwmaz =

101, s s =
(A) =fFagses HUFBA
(B) =fermrss @
(C) uwfbs mrga 99
(D) %a=h =

102. wq& BT ST T

(A)

®) -

(C) weE
(D) =%

103, o Ereafesrs e cwin sEonind
eTrd o~ W12 wu W Yrre 2022 ST
-z ta

(A) Tur (s
(B) = ieEl
(C) Term =™
(D) CeE1 R

104, FRuffee fomofr s el sl

yeanga e e
(A) =rreR o= 78 WHeTe w0l
(B) (o= 6 Freyofiy wg wEl e




105, lsmuuuu : aﬂndll'?
i £ (A) Jimutavahana pé

(B) Al-Beruni -

(C) Ibn-Batutah

(D) Amir Khasru

106. The historical importance of the second
session of the INC held in Calcutta in 1886 was

that—

(A) There was merger between the INC
and the National Conference.

(B) It was presided over by Dadabhai
Naoroji.

(C) The great scholar Rajendralal Mitra
was the President of its local Reception
Committee.

(D) All of the above

107, The first cotton textile mill, in India was set

up in
(A) Kolkata - Ghusuri
(B) Kolkata - Sinthimore _
(C) Nagpur N &
(D) Thane (‘% Y

108. Mahatma Gandhi presided o‘w&‘muahnua!
Session of Congress only ance
(A) Kakinada, 1923 O
(B) Belgaum, 1925

(C) Kanpur, 1925
(D) Gauhati, 1926

1.’. . Name the Sultan wh :
M o first or d
&7 :&ﬂpﬂﬁﬁmﬂncnﬂqm the Deccan. ELee

*ﬁtsm} Alauddin Khalj

fl!‘.‘ Hmz-'l'ughlu:l
(D) Md Bin-'l'ugh].k

h"

106. 1886C% :
By AT ﬁ&iﬁ"mﬁ“m e 1
(A) A T 6 S ol

E Akt £ W ml !

(B) rﬁﬂmﬁﬂmﬁm Tz
(C) ﬂ{‘ﬂ'!-ﬁﬁ ﬁl 4% A/

#fafba mﬂFWI J

(D) B TG

107, celupt =rmuea =9 oo Tie e
(A) =fEere, wE-co
(B) =faeren Al as
(C) "L
(D) 4H-CE
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(A) #ife=rel, 1923
(B) cz=sha, 1925

(C) F=ef7, 1925
(D) ¢z, 1926
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110. NEAT 3.0 is a platform associated with
hich Union Ministry of India?

(A) Ministry of Education

(B) Ministry of Healthand Family Welfare

(C) Ministry of Commerce and Industry
(D) Ministry of Corporate Affairs

111. When is ‘International Customs Day 2023'
observed?

(A) January 25
(B) January 26
(C) January 27
(D) January 28

112. What is the name of the new department
created by the Reserve Bank of India in 20227

(A) Department of Artificial Intelligence
(B) Department of Fin-Tech

(C) Department of Data Science,

(D) Department of Digital Cérrency

.
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113. Name the Suitan ..n{,,yl‘?clhl who first
introduced the no }sl fromlcr policy.
(A) ltutmi
(B) Balban
(C) Raziya
(D) Alauddin Khalji

114. Under the rule of which emperor Nalanda
University was founded?
(A) smm

B.21
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(A) fufoly ww agrmms

(B) ey ey g wore i emaorna
(C) fafaf} wnr wwnf =rs 2oy

(D) fufaif} ey meofiral wpow

111, ‘“uryeifes sptam fra 2023' ool =0
we e #Afrs euy

(A) wepufa 25

(B) wiquifa 26

(D)
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(A) fontot = wffGmm T e
(B) fenfliea® = -0

(C) feAMmTD = cebl A

(D) feABT = fefebm wrain
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116. Who was instrumental in founding the
National Planning Committee (the forerunner of
the Planning Commission)in 1938, for drawing up
a plan of economic development on the basis of
industrialization?

(A) Subhas Chandra Bose

(B) Jawaharlal Nehru

(C) Mahatma Gandhi
(D) Maulana Abul Kalam Azad w’

@

117. Inwhmhmuftlmfdﬁ ya Sabha
and Lok Sabha enjoy eq s&‘"
(A) Amendment of stitution

(B) Removal of government
(C) Introduction of money bill
(D) Creation of new All India Service
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(D) 7 cms
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b ﬂﬂ!ﬁ Raj Imlllullougt paNta

(A} Rajasthan

(10 Assam

() Sikkim

(1) Arunachal Pradesh

1200 With which country has India recently
veoad the Economie Cooperation and Trade
Agreement (ECTA)?

(A) England

(B) USA

(C) Australia

(D) France

121. Which state among the ‘Sixtecen
Mahajanapadas’ was successful ultimately in
founding an empire?

(A) Koshala

(B) Kashi

(C) Magadha

(D) Panchala  {

g A;B,ff:. D,E

. D scored’S more than

122 Inacricket match, S
scored an average of 35
E. E scored 20 fewer th as many as
D and E combined. B an red 75 between
them. How many runs did C Score?

(A) 45
(B) 55
(C) 20
(D) 30

123. Who was the first historical emperor of
India?
(A) Dhmuﬂl
(B) Ch
(C) Bin _-‘f"ﬁ
.!, usara

-—'““$ q‘14-__- -
i u_:r ¥l oL 1# O

inm:'l.'inl
119, fuffes aerofie oo celoe swordl

ot afdponje wvfafn enfeo e cawem
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(A) areryr|
(Iy) wmimy
(C) Frfas
(D) ‘weeetimm s«

120, (14 (Meera Aped w1ae Arafessm
Traonfie ceravicaes vt GF e (adafes
Hepurlirel wae affers i) g s

(A) 2wrs

(B) 7 N
(C)

(D)

111*‘:531 WO -0 W0 (o v @
rummmmmcz AT AT 0% G ¢
7Y (A) @rm
%W (B) 3@

(C) =iy
(D) i

122, <= f&Ta® oy A, B, C, D, E *1T8 35 7
@@ | D, E-7 (W0 5719 (af« 272 g3t E, A7 (4=
20 #% 7 WA | D, E-2 fifere s B #0321
Be C G375 715 302 | C 99 9% I FAT

(A) 45

(B) 55

(C) 20

(D) 30
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'ﬁif'ﬁ“" Industrial

lﬁ mlm of .I u md ship
epairing ¥l

() Petoleum refinery qﬂ_limhmﬂun of
hatterios

() Nﬂﬂlﬂmmﬂnﬂ}rmﬁlﬂprcpalﬂng
K (D) Petroleum refinery and Chemical
' Fertilizers pooduction

135 Which statefunion termitory has launched a
‘L8point Winter Action Plan® 10 control air
pollution?

(A) Punjab
(B) New Delhi
(C) Rajasthan
(D) Haryana

i
126. The British Committee of the Indian ¢
National Congress was started in 1889 under the

chairmanship of:
(A) Dadabhai Naoroji
(B) A. O. Hume
(C) W, Digby
(D) W. Wedderburn

™

40

127. Which hormone is ible for breaking
the dormancy of a seed?

(A) Auxin

(B) Dormin

(C) Cytokinin

(D) Gibberellin
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1 Q) ChanerActor 1793
(8) Charter Actof 1813
(©) Charter Act of 1853
(D) Charter Act of 1813
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130. Which Asian country is the host of 2023
IRA women's World Boxing Championship?
(A) S Lanka
(B) India
(C) Nepal
(D) Thailand

1
131 1 _f{-‘c]-5‘+?+2.wn the value of

fl=x) 15
(A) fi(x)
(B) -f(x)

© f (-%)
®) —/ E]

132. If the seventh
earlier than Friday,
nineteenth day of the

(A) Saturday
(B) Monday
(C) Sunday

(D) Tuesday

-

is three days

da ill it be on the

133, mimoru'm:mmweeﬂl{:
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(A) 1793 fnbuwm soTe &l
(B) 1813 fndierm sfore wfts
(C) 1853 fbicaa siora wEH
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) 3" 135- Fﬁ? ‘a floating body to be in stable
# qliﬁhimwher: should its centre of buoyancy

be located?

(A) At the centre of gravity

(B) Above the centre of gravity

(C) Below the centre of gravity

(D) It may anywhere

136. In the service sector the most modern and
developed economic activity is
(A) Tertiary activity
1' (B) Quinary
(C) Quarternary
. (D) Secondary

137. Which of the following are %ﬂ the
Bombay Triumvirate?
(A) B. G. Til 3 (io ale and

.,r- '.G.I'LDeshmukh
l_g Dndnblmﬂwoﬁ K. T. Telang and
'R. G. Bhandarker

.
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(A) 1820
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140, A muslim organization, 8
Juring the First World War lhll M wl

Hﬂ]flﬂdl# and try to reach an mthlhe

1|-|.hrfl.:1. wis t!';'l
(A) Muslim League
(B) Ahmadiya Movement

(C) Ehrar League
(D) Deoband Movement

L

141. Madan Lal Dhingra murdered Curzon
Wyllie in London in 1909 as a protest against
(A) the indiscriminate arrest of the
Ghadarites.
(B) the inhuman transportation anc
hanging of Indian youth.
(C) the imprisonment of Lal, B
(D) the Partition of Bengal.

o

42 A, B, C, D, E,
hexagonal table. A 1S
between Cand D. A i
is 1o the left of D. Whic
facing each other?

(A) (E, F)
(B) (D, E)
©) (C,E)
(D) (C,D)

143, Mnnhemnftb_g_ '
(A) elected by
(B) elemd’ "’L‘;ﬂ"jﬁ"
(C) nomin I:L."‘tt‘.r.“f
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(A) Titumir

(B) Kunwar Singh
(C) Digambar Biswas
(D) Haji Shariyatullah

146. Who was Mihirkula/Mihirgula?
(A) Saka king
(B) Kushana king
(C) Huna king
(D) Pahlava king

<

147. Who is the head of
mb-calcgormumufﬂ

‘E*. for the
s?
(&] Justice G, R
{B) Justice Uday Umesh Lalit
~ (C) Justice D Y Chandrachud
(D) Justice Sanjay Porel

144, r*f__':g-m MSaﬂnuhﬂilmh

145, Who started Faraizi movement in Bengal?
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149. In Iﬂﬂil
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! (A) wf r fresh milk s s hig
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(C) Mmtmhhm“ can. "".
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130, In India the mumem]em,ﬂop‘h
(A) Jute :
(B) Cotton o 4
(C) Flax
(D) Til

151. All revenues received by the Union
government by way of direct and indirect taxes,
soney borrowed and receipts from loans given hy
the government flow into

(A) the Public Accounts of India.

(B) the Consolidated Fund of India.
(C) the Contingency Fund of Indi
(D) None of the above

(A) sodium
(B) sodium

tartaric acid
(D) sadmmh}'dmgmcubmmlﬂmdwuic

acid . N
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(m Gautamiputra S W
(C) Vashishta Putra Pulamayi
(D) Yajnasri Satakami

185. Which institution has released the
*Adaptation Gap Report 20227
{A) NITI Aayog
(B) UNEP (United Nations Environment

Programme)
(C) WSF (World Social Forum)
(D) WEF (World Economic Forum)

156. Which country has passed the gcnd:r
recognition reform bill?

(A) England

(B) Scotland

(C) ltaly f“v-.
(D) Switzerland

157. Dadabhai Naoroji wasc! tothe British
Hou.ﬂ: of Commons the

(M Conservati
(B) Liberal
- (C) Labour
(D) Labour-Liberal combine

8. hlunhhndﬂtbumhmknu\’my
o at Chandni Chowk, Delhi in
December 19121“;

(A) R

(B) BI i P: rmanand :

fl."” b'“ff.'* ndra th su;:i] .'
(D) Shohan Lal Pathak
_.:t' g
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157. wrelt (nefe Ao Uty e
(A) s=erefhe

(B) framm
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(C) Nabagopal Mitra d
(D) Satyendra Nath Tagore
¥ -q -I_
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169. \eaning of Man ~ Land ratio is

(A) the ratio between the total population
and the actual utilization of land in a
country.

(B) the ratio between total land and total
population of a country.

(C) the ratio between the total plain land

(D) the ratio between total agricultu
land and total male population.

and mature population of ncnunua:<E (bb} i

Panipat fought in 1526
(A) Baburan i
(B) Babur and
(C) Babur and Sher Khan
(D) Akbar and Himu

170, Between whom was th @ltlc of
ga

India— e
(A) Ballarpur
(B) Salkia

170. 15268 20 oAfisites P& w0 <00 WS
e v e
(A) a6 Tt A
(B) 3@ © 7 77
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® HusainShah

173. The efficiency of a Camot engine working
between 227°C and 27°C is

(A) 100%

(B) 50%

(C) 40%

(D) 20%

174, In which substage of interphase is DNA
doubled?

(A) G,
(B) §
(C) G2
(D) Gy

175. Population explosi W‘Falmia

during
(A) 1921 — 194
(B) 1901 — 1911
{C} lg‘”—[ggl

| {B} S

£,

173, 227°C a% 27°C Tyeera 3 *-::r_%.”.'r.‘.;.

a5 TR FRATel T
(A) 100%
(B) 50%
(C) 40%

(D) 20%
N\ @

114. Duﬁﬂﬂ! qﬁmq o 21 2

f”a,

(€) G
(D) Gy

175. STaTS WIATHTs IR ST e

(A) 1921 — 1941
(B) 1901 — 1911
(C) 1971 — 1991
(D) 1961 — 1981
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178 mber of molecule

1. ﬁc:ordmgm_N"" ands law of oct
peryllium resembles ffr of the following

(A) P.V. Sinm:n L
(B) Neuaj ',.‘B
(C) Mary K
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182. WhichIndian state has declared Malakhamb
as its state sport?
(A) Kerala
(B) Assam
(C) Madhya Pradesh
(D) Rajasthan

183. Which of the following consitutes a capital
account in the Balance of Payments in India?
1. Foreign loans
2. Foreign Direct Investments
3. Remittances from abroad
4. Portfolio investment
(A) 1,2and 3
(B) 1,2 and4
(C) 2,3 and 4
(D) 1,2,3and 4

Ml G T

184. Which provision of the fundamental rights
is directly related to the exploitation of children?
(A) At 17
(B) Ar. 19
(C) Arn.23
(D) An. 24

185. NITI Aayog has relcased the“North-East
Region District SDG Indexiiuwith ‘the support
from g 2 )

(A) UNDP{Uﬁi_Ed ations Development
Programmc)

(B) World Bank

(C) Asian Development Bank

(D) IMF

; 186. Which of the following factors caused the
( greatest racial cleavage in India before the
: foundation of the Indian National Congress?

(A) The Ilbert Bill Controversy

(B) The reductions of age for entry to the
~ Civil Services

Q 'Ihc Arms Act of 1878
(D) The Vemacular Press Act

d‘ r'_
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T + Find the least num'hcrmcdmml
"‘ peitd perfect square, x 8792
" -
. (A)
(B) 2
ﬂ". o
I-'l'ﬂll V]

_oon ball is hes
- o lI-- :‘ I|1‘]‘ t:: :‘JIIL]:E: i:¢.1l¢d1 The percentage
. A} density
B) surface arca
) diameter

D) volume

1§9, Which sector contributed the most to the
(iross Value Added at basic prices in the last

- \} Public administration, defence and
other services
(B) Financing, real estate and profess jonal

SETVICCS
(C) Manufacturing, construgtion;
electricity, gas and water supply
(D) Trade, hotels, transpost and
communication
r 9. A Public Servieg’ Commission was
i established in India for the Tarst time by

(A) The Indian Council Act, 1982
(B) The Act of 1909

(C) The Government of I
(D) The Govemnment of 1

ndia Act, 1919
ndia Act, 1935

191, In Assam the Tea Research Centre is at

(A) Guwahati
(B) Jorhat
(C) Tejpur
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